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class Test {
public static void main(String [] args){
Thread t = new Thread(new Something());



t.start(Q);
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class Test extends Thread {

public static void main(String [] args){
Test t = new Test();
t.start();

}

public void start(Q){
System.out.printin("*ABC™);

}

public void run(Q{
System.out.printIn("’'DEF™);

}
}
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class Test implements Runnable {
public static void main(String [] args) {
Thread t = new Thread(new Test());
t.start();
}
public int run(Q{
for(int i=0; i<10; i++)

System.out.printin(i);
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class Test extends Thread {
static String s = "A";
public static void main(String [] args)
Test t = new Test();
t.goQ);
System.out.printin(s);

}
public void go(){
start();

s += "B";

}
public void runQ{

s += "C";
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class Test extends Thread {

String name;

public static void main(String [] args)
Test tl1 = new Test('1™);
Test t2 = new Test('2");
tl.runQ);
t2.run();

}

public Test(String name){
this.name = name;

}
public void run(Q{

try{
for(int i=0; i<3; i++)

{
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